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W The probability that a student Aasha passed Mathematics is %, t@&ability that

oG, 4
she passed Statistics is o If the probability of passingﬁ_,atl@one subject is rZ

what is the probability that Aasha will pass both the, subjecﬁfs ? 7
y (B) Define Mathematical expectation and state its propertieés. 7
f OR
1. (A) BoxIhas5blackand5 white balls. Box.II has 6 black and 4 white balls. One box
is selected at rando @ﬁom it one ball is drawn. Find the probability that the
selected ball is ofifaek colour. 7
. 1. (B) The probabili Jstribution ofa random variable X is given below. Find E(X) and
V(X) @$ 7
X :| 3 N\NZ | 16| 20|24
| N s L L
k BN | 5 | 8 | 4 | 12
3
i
i 2. (A) Writethe properties of Binomial Distribution and Poisson Distribution. 7
(B) 100 electric bulbs are found to be defective in a lot of 5000 bulbs. Find the
probability that at the most 3 bulbs are defective in a box of 100 bulbs. [e2=0.1353] 7
OR
1 P.T.O.
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i coeﬂiments and state their properties. i

L e
ol

Y ';sj.mrf o
@earson S ooefﬁcnent of correlation. 7 &

/i

a: | 51.50 160 | 162 | 165 | 167 | 164 | 163 | 160 | 165 | 154
|y [ 157] 159|160 | 167 166 | 164 | 162 | 165 | 165 | 165 R
e OR
(ﬁj - Write notes on :

S ()  Multiple Correlation Coefficient

‘E;-;-._ o (i)  Partial Correlation Coefficient

(B) Find the regression equation of Y on X and X on Y from the following !
g information :

X128 141 |40 | ® |35 N\F] 4 | 32| 36 0 |

-

30 | 34 @“\34 301026 | 28 |31 | 26 | 7
(G\J‘

Q
Q$

(A) Draw X and R chart and decide whether production process is u

nder control or
- not,

B X (40 (42 | 41[40] a2 | a3
B2 521 | 4
[n=5,A,=058,D,=0,D,=2.11]

4. (B) For SSP (1500, 100, 2) find producer’s risk
that AQL = 3% and LTPD = 69,

and consumer’s rigk when it is given

[63 =0.0498, ¢7 = 0.000912]
OR
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e items 1150150 [ 150 [ 150 [ 150 [ 150 [ 150] 150 [ 150 | 150]
No. of defective item| 8 | 12| 14 18176 § 10| 15 | 134551 FiG
Give the following answer : (attempt any 7 out of 12) 14
() The parameters of a binomial distribution are and
@ n,p (b) m, pn (¢) np,n (d) None
(if) IfE(X) =3, then E(3x + 9) =
(@ 20 (b) 18 (c) 9 (d)» None
(i) The Poisson Distribution is a distribution of varidble.
(a) Random (b) Continuous (c) . Discréete (d) None
(iv) What is the other name of classical definition ofprobability
(a) Axiomatic (b) Statistical () Mathematical (d) None
(v) Mean and variance of@ﬁmifd distgbution are equal.
(a) True ,§’(b) False
N
(vi) The value@orrelation cgefficient is between and
(a) -1&1 @) 1&1 () 0&1 (d) None
(vii) On which distribution C-chart is based ?
(a) Normal (b) Poisson (c) Binomial (d) None
(viii) If P, = 0.92, what is Producer’s risk ?
(a) 0.92 (b) 1 (c) 0.08 (d) None
(ix) Which chart is used for controlling number of defects in a TV set ?
@@ C (b) np ) p (d) None
3 P.T.O.
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